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Physical Education
Paper 111

IHiRes forem
gyatent III

Time Allowed : 2% Hours]

Note : This paper contains Seventy Five (75) multiple choice questions. Each

[Maximum Marks : 150

question carries Two (2) marks. Attempt All questions.

T, T YA gred.

oAl : A1 JRAULRd THRU UdeX (75) SgUdEl U STed. Yod UIAn &M (2) T

Match List I with List II and select
the correct option from the codes
given below :

List I

(@) Trait anxiety

(b) State anxiety

(c) Stress

(d) Somatic state anxiety
List II

(z) Moment to moment changes in
perceived physiological
activation

(z1) Characterized by diverse
reactions

(z11) Transitory in nature
(tv) A relatively stable disposition
Codes :
(@ B ©© (@
A @ @) @) (Gv)
B) @) @) G @
(C) @) (Gv) @ (11)
D) @) @) @ @

T 1T A 11 Jogd I gt et

fecied Areharemgd faet .
R |

(@) <2 3f=mad

(b) e =

(c) dueg

(d) GHfesh Ve sf=maed
a1

(i) STEeIfad YRREAe  Siengand
TUNETON BN s

(i) fafaw wfafeara o
({ii) T TWEY
(iv) JerTcHehgsean e gait
Hichdich :

(@ B @ @
A) @) (@) @) (Gv)
B) @) Gi) Gu)  G)
C) Gu) Gv) @ (ir)
D) G@v) Gy G  G)

[P.T.O.



Match List I with List IT and select

the correct option from codes given

below :
List I
(@) Transfer of training
(b) Intent of transfer
(c) Bilateral transfer
(d) Asymmetric transfer
List II

(z) Condition affecting transfer

generalization

(i) Transfer of learning that

occurs between two links

(zi1) Bilateral transfer with greater
amount of transfer one limb
than other

(tv) Effect of practice of one task

on the learning of second task
Codes
@ & © @
A) Gi) G 6 o)
B) ) G G G
©) G) G Gii) (i)
D) Gi) G Gv) ()

APR - 71317/11I1-C

AT 1 9 A=l 11 s aid 9 @t
feciean wiehdimmyd feer .
et 1
(@) wfRT&OT Hehu
(b) FHAUMET T
(c) THIR TR
(d) STHAN HhHA
et 11

() HHHI FWHHHITET qfeony
HLOM Tt

(i) TH STEFTMY TSUR T Ryl

(i) Teh1 STIIATd qE-ATI&  3iferen
THIUT B fgurite e

(flv) JETIATAT Tl HIEATAT AT

T AR B gRomH
Wichdich :

@ B © (@
A) Gi) G @ G
B) @) @ @ Q)
©) @ Gy Gu) @)
(D) G) @) Gv) @)




Which of the following is not a

regional center of Sports Authority

of India ?

(A) Bengaluru
(B) Patiala
(C) Baroda
(D) Kolkata

Physical education curriculum can

be defined as :

(A) Prescribed course and subjects

for study
(B) Division of the subjects for study

(C) Putting educational philosophy

into action
(D) All of the above

The domain concerns with

development and improvement of

motor skills :

(A) Organic domain

(B) Cognitive domain
(C) Affective domain

(D) None of the above

3.
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URAE SISl Uiehome faqria &g
Weilerisht 49 AEr

(A) 9w
(B) dfearet
(C) wE|T
(D) hicTehRdl

IMORER RIT0T ST AT ST
T R

[ o

EREIEIEREIEN ]

(A) STITHTETS!

qi3qshH

(B) @S fosmm=t favmroft

(C) VeIforr daTE Hatd ST

(D) e @l

R ATl o ofor gemorett

(C) wEfe &

fal

(D) aAUh! THE TRl

[P.T.O.



Time table of the school is affected
by :

(A) Students strength
(B) Climatic conditions
(C) Availability of staff
(D) All of the above

Match the components of health

education in the following :
(i)  Objectives of (a) Health services

Health Education

(i1) Scope of Health (b) People become

Education aware of healthy
habits
(Zit) Principle of (¢) Motivating
Health Education people towards

healthy attitudes
(iv) Importance of (d) Active

Health Education participation is

key to learning

Codes :

(A) (D), @)—(c), (L)—d), (v)—(b)
(B) ), @)~b), i)~(a), (lv)~(c)
(C) (e), (i)~(a), (L—d), (v)-(b)
D) @), @)—(e), @i)~b), (v)~d)
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T — -

ERIEIREECE

(A) ferneff @

(B) @rareromr= feerdt

(C) forersh SHetsua

(D) =’i< e

SR 0 9 = SqeH=A Se

oAEar e

() R T (o) AR Fel
Sfese

i) SR e 6) FNERE wEEw
=t ML A

i) TR Tyeqomeh (o) R SR
T oot afta =

(v) AN TEOME (@) AhT FEHT
e T AT

TefeReet
Hichdleh :

(A) (@), ()—(c), Dd), v)-(b)
(B) )—d), ()—0b), (i) —a), )
(C) ()—(e), (iD)~(a), (id), (v)—(b)
D) @—a), (@)—(c), @i)-(d), (v)—(d)




Match the deficiency of vitamins

with diseases :
() Vitamin A (@) Scurvy

(@) Vitamin C () Blood clotting

deficiency
(i) Vitamin D (¢) Colour blindness
() Vitamin K (d) Rickets

Codes :

(A) (D)), @)—(c), (l)—d), (v)—(b)
(B) ()—a), (i1)~(c), @)~(d), (tv)-(d)
C) ()—(e), Gi)a), Gii)—(d), (Gv)-(b)

D) ()b, Gi~d), GiD—a), (v)~(c)
Obesity can be managed by :

(i) Dieting

(i) Exercise

(iii) Irregularity

(iv) Carelessness

(A) (i) and (iii)

(B) (i) and (iii)

(C) (iii) and (iv)

(D) @) and (@)
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SIS ALl d SAYSMR T =

SIEDIIRGICI
G) SheTEd 3 (@) WA (TRt

Gi) STaTee 9 () TR M3
AT

Gii) SATET T (¢) LMEsu
Gv) STTEE & (@) HSgd

i
A) (D)—a), Gi)c), (Lii)~d), (iv)-(b)
(B) @)—(a), Gi)(c), i)-b), (v)-(d)
(C) ()—(o), Gi)—(a), Gii)-(d), Tv)—(b)

D) @), @)-d), (i) (a), ((v)-c)

Tl ShIE HSh ASSIUN SHAEATIH

L Ad

(i) U=

(ii) ==

(iii) AT
(iv) TTehTaSaon
(A) () 3 (iii)
(B) (i) 7 (iii)
(C) Gii) @ (iv)

D) @) = G1)

[P.T.O.



10. Complete depletion of ozone will

11.

have the effects :

(1) May cause cataract

(11) Low yield and crops

(i11) Skin cancer

(iv) Good for health

(A) (), (z11) and (zv) are correct

(B) (@), (Glv) and (i) are correct

(C) (@), (Gz) and (i17) are correct

(D) (@), (Gz1) and (iv) are correct

communicable

.............................

disease is also known as Hansen’s

disease.

(A) Leprosy

(B) Tetanus

(C) AIDS

(D) Hepatitis A
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10. YUl ST A= HEH Welia JRomd

11.

F I
(i) Tifeg SrvATe TR

(i) ek IR T

(i) TT=AT HeB LA

(iv) AATES IUFeK
(A) @), (i) = (jv) TR
(B) @), (iv) & (i1) SRR
(C) @), (i) T (iii) s

D) @), (i) T (iv) SRR

I I AEH MeEd S,
(A) ST

(B) &aa

(C) T&q

(D) federmdte (FHdren el §S)




12.

13.

14.

Deficiency of protein in children

results in :
(A) Gout

(B) Anemia
(C) Marasmus
(D) Rickets

“Play is very important for the

preservation, growth and

development of the organism” is

given by :

(A) Froebel
(B) Aristotle
(C) McDougall
(D) Ross

Nature and type of reactional

activity should be :

(z) Interesting

(z1) Suitable for age and occupation
(iii) Fatiguing

(tv) Refreshing

(A) (), (z1z) and (iv) are correct
(B) (i1), (zi1) and (iv) are correct
(C) (), (i) and (i1z) are correct

(D) ), (z) and (iv) are correct

12.

13.

14.
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T STYTETHeS YeHed BIUR TSR

(A) TRREm
(B) =&
(C) HHeH

(D) HsgH
“ ST IReOTETE, 9@ 9 faeharrst

©Ies T AT Hewomd 3Ty’ 3 AT Teal
e -

(A) HIsld

(B) sfRwerea

(C) HehgTd

(D) &

TSI 3UhH © A1 WYE F Jh=
A9 TIfgSd

OIRELECED

(i) 99 9 FIHEA AT

(111) IhHT ZhUR

(iv) ScHTEeE®

(A) @), (i) o (jv) SR
B) Gi), (i) T (jv) s
(C) (i), (i) T (iii) TR

D) @), (@) T (iv) SR

[P.T.O.



15.

16.

17.

The state of supercompensation is a
............................. phase which lasts for

a few hours.

(A) Permanent

(B) Situational

(C) Temporary

(D) Competition

Ballistic method means ................... .

(A) Partner method

(B) Assisted method

(C) Isometric method

(D) Swinging method

In FIT.T. ‘F’ means ...ccccceeuve...... )

(A) Force

(B) Footwork

(C) Freehand

(D) Frequency

16.

17.
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(C) dreqa

(D) Tt

o a

SfARZesh TGl

31
(A) TR UEd

(B) sfaeds ugd
(C) smaEmfsd T5q
(D) f&fm vgd

F.IT.T. Id ‘F =1 e

(A) s (HH)

(B) TRelfed (Heaeh )

(C) Treve (TiRgTe)

(D) IRaRal (frea=)

10



18.

19.

20.

While progression in training

provide time for ..........c.cccuunnnnn... .
(A) Practice

(B) Recovery

(C) Exercise

(D) Competition

..................... principle emphasises the

importance of off-season

maintenance programs to the

athletes.

(A) Progression
(B) Overload
(C) Specificity
(D) Reversibility

The number of successive repetitions

you perform without resting means

(A) set
(B) volume
(C) intensity

(D) density

19.

20.

APR - 71317/111-C

(A) WE

(B) A9t

(C) =™

(D) et

ISl YeHIS! Sh-TgH W hEihAN

(A) W=
(B) SIETYRM

(C) fafyred=

(D) gelerad
T offad T (THHR THh) o TRl

HIEl 3T shiad oren 37

g B

(A) &=

(B) 3TRAM
(C) direra

(D) =Aan

11

[P.T.O.



21.

22.

23.

Aerobic endurance is also known
AS et .

(A) Cardio-respiratory fitness
(B) Cardio-respiratory endurance
(C) Aerobic fitness

(D) All of the above

An athlete has decided to take up
cross-country running. Which type
of training would be most suitable
for this activity ?

(A) Circuit training
(B) Weight training
(C) Continuous training
(D) Flexibility training

Given below are two statements, one
is labelled as Assertion (A) and the
other is labelled as Reason (R).

Assertion (A) : ¢ test is used to
assess the significance of difference
between two means

Reason (R) : ‘¢’ test is a technique
used for inferential statistical
analysis.

In the context of above statements,
which one of the following
statements is correct ?

(A) Both (A) and (R) are true, but
(R) 1is mnot the correct
explanation of (A)

(B) Both (A) and (R) are false

(C) Both (A) and (R) are true and
(R) is the correct explanation of

(A)
(D) (A) is true, but (R) is false

21.

22.

23.
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Wfeeh ATel THERYUTY
FHE WU

(A) TTeE ggadl
(B) TfeRmadd THTRIIN
(C) Wifosh gged

(D) i 9d

HISTUGH ShIF-hel hvaTe Sfoct ATl
A UG TR FRIO ?

(A) T JFTem

(B) 9 gf¥refor

(C) ThTer gfdreron

(D) Efashar grerefo

fecied S aeRITdia T fa8m (A) 3T’

g TH HRO (R) TR

faam™ (A) : <9 A W

Trefehd quIEUIrETSt &t qdiferehan SuEm

gIal.

HROT (R) : ‘31’ qliferent § STIAMHS

TEARTST fOeaoomasl arie Siom

T 3R

e Sl faumr=n Sewia @rel foaie

Hiehdiehiqd IVl I T e ?

(A) 3= (A) T (R) ¥4 3R, g (R)
T (A) I ST TIEIHRLO AR

(B) T (A) g (R) 31T A 3R

(C) Tt (A) @ (R) HH I8 3101 (R)
T (A) TRl TgH TEIHI 3T

(D) (A) § 9 318, WG (R) T 3TFA
3

12



24. The major objective of a research
report is to :

25.

(A)

(B)

©)

D)

enable the researcher to earn a
degree

proliferate knowledge by
publishing it

communicate a set of ideas or
facts

stimulate more research on the
subject

Match List I with List IT and select
the correct answer from the codes
given below :

(@)
(®)
()
(d)

@)
(@)

List I
F-test
Measuring central tendency
Test of correlation
Measuring variability

List II
Coefficient of correlation

Standard deviation

(i11) ANOVA
(iv) Median
Codes :

(A)
B)
©)
(D)

(@ B ( (@
@ @) @) o)
@)  Gv)y @ @)
@) @) ) @)

@) @ ()  (Gu)
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24, GENEA STEATE U@ 3R ¥ S ¢

(A) TINYHRTAT U] fH0

(B) YehRMIER MM FHR 0

(C) heqa fepa qear=a Heme HHOl

(D) forsmmedie sifees SeneAmEE afa
L0

25. IET 1 3for et 11 = Sirean o o
Eefiel HishdlehTqd 3T<eh waig ferer .
et 1
(@) TH-FHHE
(b) HIE T A
(c) TREaHMEN HERl
(d) Toaemfeda q9e

et 11
(i) VEEeY FEUH
(i) vH fo=e
GARSIC
(v) |&EmM
Hichdieh :

(@ B (©© (@
A) @ @) @ (o)
B) G Gv) @) (i1)
©) Gv) @) G @
D) @) @ @) )

13

[P.T.O.



26.

27.

28.

Philosophical research is also known

as :
(A) Rational research
(B) Perceptual research
(C) Conceptual research
(D) Behavioural research

What statistical test appears to be
suitable for evaluation of mean

differences ?

(A) ANOVA

independent groups

One-way for

(B) Chi-square test

(C) Independent sample t-test

(D)

Paired sample t-test

Limitation of a research process

includes :

(A) age, sex and participation level

of subjects

(B) attitude and interest of subjects
and precision of available

instrument

(C) age, sex and interest of subjects

(D)

attitude, participation level and

age of subjects

26.

27.

28.
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TR, ERNYAE 3788 WA
(A) dfeher HeNed

(B) STTEIcHe ERIEH

(C) HheqIcHe HRIEA

(D) oA TeeA

HEHAT LRt JeIH U
Ira |l HAR HI0 ?

(A) ST SeArETSE] Teh-faeie WHee

N A

(B) & SO HUR]

e

(C) W@as A S-Hhe

ha VA

(D) Us1€ TN A-HAR

TN Wik Taie] Hed I iadid
B

(A) Yfaaeera 99, fam ufor ggam
ESES

(B) UfqdgenTen gfteehia 9 3Ee sfv
HIYAET SRl
(C) wfqaesr oF, fam ot e

(D) wfqeeesmn gfteshd, TeHr ®NR
o 9

14
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29. Research problem involves the | 99 Hofiyage qeiel Sf¥eeEn fqute
following characteristics : N
(I) Novelty @ A
(IT) Valuability an =
(ITI) Feasibility (IT1) G
(IV) Simplicity (IV) gara
Find the correct combination : 3T AN o e
(A) (I), I, (1) (A) (D), D), (II1)

(B) D), (III), (IV) (B) (ID), (IID), (IV)
(C) (D), dID), aV) (C) (D, 1D, (IV)
D) (D, dD, AV) D) D), dD, (IV)

30. The Chi-square is one of the most | 30. HFF-TWAR 7 Tk 3TAd ATHITI
popular statistical technique TS WY 3T SR
because it is : A .

(A) TIARTAEE AT ITHd
(A) Very useful for novices .
(B) T4 GG IUASH
(B) Applied in most research
: (C) eTheHEY efor stedfel=mre |
(C) Easy to calculate and interpret
(D) Good for testing hypothesis (D)
31. Which is NOT personality test ? | 31. T@IcTUeh! Ul Hfckiewel HEIST AT 2
(A) Cattle 16 PF (A) ®ed 16 T,
(B) Eysenck PEN inventory (B) 3TTEish U9 Yiifereht
(C) TAT (C) feufe
15 [P.T.O.



32.

33.

A person having BMI more than 30

would be assessed as :
(A) Obese

(B) Normal

(C) Overweight

(D) Underweight

What is the appropriate sequence of

constructing psychomotor test ?

(1)

Define the performance to be

measured

(2)

Determining validity, reliability
and objectivity

(3) Select the item
(4) Pilot testing
Codes :

(A) 4), (3), (1), (2)
(B) (1), (3), (4) (2)
C) 2), (3) 4), (D

D) (4), (1), (2), 3)

32.

33.
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= HfeRa= L UH.2AF. 30 Uy 3feh
STE ST KA FeIHTI JeIeTueh! il
e ?

(A) <g39un

(B) "™
(O REICERCSE

(D) & TS

R HEEIET A0 HIAHEA AT

&A1 3T hivfe  ?

(1) HTIEHHE "9 e A= o

(2) duar, faveeaa sufor aegfea
EREL

(38) HEE TeHE fae Lo
(4) TUERf =A™ H
Hichdleh :

(A) 1), (3), (1), (2)

(B) (1), (3), (4) (2)

©) (2), (3) @), (1)

D) (4), (1), (2), 3)

16



34.

35.

Select the correct answer from the

choice given below :

(I To
measurement technique and
should be

standardized to

ensure reliability,

condition
reduce

measurement error.

(II) Length of the
heterogeneity

test and
improve

reliability of instrument.

(A) Both (I) and (II) are correct

(B)

(I) is correct and (II) is wrong

(C) (II) is correct and (I) is wrong

(D) Both (I) and (II) are wrong

Which of the following statements

is not correct ?

(A) Tests are specific instrument of

measurement

(B)

Evaluation is ongoing and

continuous process

(C) Measurement refers to the
translation of test result into

meaningful information

(D) Measurement is a technique

necessary for evaluation

APR - 71317/111-C

34. Yeid YA Ird Sl fHee &4 ¢

(I) WG HHT HIAES! forgera i,
Ao ST aRkfeerdte gL

n N
CAletlden  3dd.

(IT) YR SieraEt i foeReter T2

NAa A o o

I TaRIHIAT UG-

(A) T (1) amfor (I1) sReR
B) (I) s amfor (1) =
(C) (II) sR_R 7 (1) I

(D) <& (1) sufor (1) =

35. YUl HIvM faee SR AEr ?

(A) FHERI TS HOUAEER 9iEH 8-

(B) TIHIYA & Hiqequl STeTom Hfshan
B

N_ A

(C) |19 TBUTS T =

srefqut sreffrel=m B

o ~
REJNIE

(D) HI9A 3 JeIATIAEIS STaedeh a3l

HE
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36.

37.

38.

Select the correct answer from the

choice given below :

(D

Review the criteria for a good
test is essential in the test

construction.

(ID

Pilot study is not required in

psychomotor test construction.
(A)
(B)
©)
D)
A test

participants score on a future

Both (I) and (II) are correct
(I) is correct and (II) is wrong
(IT) is correct and (I) is wrong
Both (I) and (II) are wrong

accurately indicates

criterion. This test would clearly
have which of the following ?

(A) Face validity

(B) Concurrent validity
(C) Predictive validity
(D) Content validity

Calculate BMI, when height of
Mr. A is 170 cm and his weight is
65 kg :

(A) 24.5 kg/m?
(B) 25.2 kg/m?
(C) 22.49 kg/m?
(D) 26.23 kg/m?

36.

37.

38.
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fal

UEd qATAaeRl aleR S fae
<l

(I) =T wEe=a ea oo
SO T HYE SIS ST
T

(II) T FHEEIT= ATEON HLA
TSI ST STavIhal gl

(A) <= (1) 37for (II) aeR
(B) (I) s 3for (1) I
(C) (II) SRR =77 (1) =

(D) == (D) s7for AD) =%

ST HEIE WA UIgER. AfasArdie
frere qEifaq oTem ®ERE el
HIV AeTAT ST ?

(A) TR e

(B) W S

(C) fatmcef e

(D) e dgar

‘o1 o1 SERIE! 3 170 FET S0 IS
65 fopdl oR U@ Hiem

(A) 24.5 fersr/Hi2

(B) 25.2 T/

(C) 22.49 /i

(D) 26.23 /2
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39.

40.

41.

The basic function of management

are :

(A)

Planning and organisation

(B) Directing and programme

developing

(®))

Personnel management and

financial management
(D) All of the above
SAI was established in :
(A) 1981
(B) 1985
(C) 1984

(D) 1988

What plays a pivotal role in the total

teaching-learning process ?
(A) Facilities
(B) Teacher’s personality

(C) School tag

(D) Curriculum and syllabus

39.

40.

41.

APR - 71317/111-C

ORI JaAYd & &

(A) TrEeE enfor gees

(B) TAdvm anfor wrfery foerem

(C) duferder oHaEemya for sfefer

AIEIIT

(D) AUt T

g (SAD) =t FfHd et gneft ?
(A) 1981

(B) 1985

(C) 1984

(D) 1988

WCATCTURT 10T STEI-TEATTT Tfshed
mgwaqul ftehr fwed ?

(A) §E gfaen

(B) Terepme =AfeRTA~

ORUCEIRECED

(D) AEHA ST qredshd
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42.

43.

Blueprint of the competition plan is
called :

(A) Technique

(B) Tactics

(C) Strategy

(D) Skill

Match List I with List IT and select

the correct option using the codes

below :
List I
(i) Water jump
(z1) Diagonal excess
(i11) 23 metres
(iv) 8 second
List II
(1) Basketball
(2) Hockey
(3) Steeple chase
(4) 800 metres
Codes :
@) @) @i Gv)
Aa e @ @ @
B @ @B @O @
© @ O 6 @
M 8 @ @O @

APR - 71317/11I1-C

42. wEe SR g6 SREETE 3™

RUIAId ¢
(A)

(B) =gt
(C) &R

(D) hISTH

43. ¥ I ot = I = Sl Jegan a

Eeld Fiendieid ard b faer
et 1
() AT 3T
(ii) RRESTET
(iii) 28 HI&X
(iv) 8 T&g
g 11
(1) STE=hsid
(2) Bkl
(3) e =™
(4) 800 HeX
Hichdleh :

@)  G) G (@)
A & @ @ @
B 4 G @O @
e 2 @O G @
M 3 @ @O @
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44.

45.

What kind of body is All India

Council of Sports ?

(A) A voluntary organization

(B) An elected body

(C) A statutory body

(D) A nominated body

The classroom teaching process

requires the teacher as well as the

student :

(A) formal discipline

(B) utmost conversationality

(C) complete understanding

(D) mutual trust

44.

45.
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Afere vRfqa wiel 9 & hioedl

TR Hafd e R ?

(A) Tfessh Teed

(B) Ts fraifaa gwen

(C) U Haufier TN

(D) & Tfea Teen

Torerer omfor fogeneatardt ot steamuE

TSl AHel Ufshar BN

(A) 3fqeries e

(B) =Y GO0

(C) vl WRTgHeiah

(D) TEREA fagamg
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47.

48.

considered play as an

instrument of child’s growth.
(A) S. Radhakrishnan

(B) Abraham Lincoln

(C) Mother Teresa

(D) Rajeev Gandhi

Sports performance is the byproduct

of :

(A) Tactical ability
(B) Skill

(C) Physical ability
(D) Total personality

Which component is not used for

assessment of body type ?
(A) body fat %

(B) age

(C) blood lipid profile

(D) weight

46.

47.

48.

APR - 71317/111-C
"I RSl Hhiel Tsh dieH 3Te’

(A) TH. THHH
(B) eTomed o
(C) ®Ex &

(D) TSita et

“HIeT HEEIE U I8 Eidd

EEE

(A) SEUD &l
(B) ITeH

(C) NI &

(D) THU HfKTHT

YRR JeaHTIATEE Eterie]

ST SZhTE SYAN Shedl SId ATat 2

(A) I =S qHIOT
B) ==

TS N

(C) =1 fodis dwrE«

(D) as
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49. Inthe ..., Olympic America | 49. TR shivre Sfeiiieh THEfer Sghr
boycott this event. Tehedl Bl ?
(A) Seoul (A) T=d
(B) Rome (B) W
(C) Moscow (C) "It
(D) Berlin (D) sifef
50, e improve due to daily | 50. T&fHd =A@M Sheamges Y
exercise. HUR Bl
(A) Vital capacity (A) =Eed wufaet
(B) Risk of osteoporosis (B) etfeeiforeaman e
(C) Type II diabetes (C) AYHE JoR II
(D) Depression (D) e
5% D was nominated as chairman | b1. 3&T YR ke sTeael =
of All India Council of Sports. | AT A FTOA A
2.
(A) Shri G.D. Sondhi .
(A) #ft SEh Hied
(B) K.M. Cariappa B) ST BRI
(C) Maulana A K. Azad (C) HF T TH. TR
(D) P.M. Joseph (D) W.TH. 9%
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53.

........................ gland is responsible for

the level of blood sugar.

(A) Pancreas

(B) Adrenal

(C) Thyroid

(D) Hypothalamus

The first open air gymnasium was

opened at ........ccceeeeeeeennnnn. .

(A) Paraguay

(B) Berlin

(C) Tokyo

(D) Moscow

52.

53.
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TRl HER=A Udesid Saree’ eft

S ?

(A) d=hamg

(B) sffga

(C) gise

(D) FENIATTH

AT ATAERUNA AT T g2

(C) rfera

(D) HEn!
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54. Given below are two statements, one

is labelled as Assertion (A) and the

other labelled as Reason (R) :

Assertion (A) : Muscle strength
and power are both reduced once the

athlete stops training.

Reason (R) : Skeletal muscle
undergo a substantial decrease in
size, known as atrophy, when they

remain inactive.

In the context of the above two
statements, which one of the

following is correct ?

(A) Both (A) and (R) are right and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are right but

(R) 1is not the correct

explanation of (A)
(C) (A) is wrong, but (R) is right

(D) (A) is right but (R) is wrong

APR - 71317/111-C

oo N

54. el feeiean SF SeRTue! T faem (A)

M J TR AE HRI (R) TE

faam (A) : SR FEaeRg et a9«

N 0

6 Tehal ShH! A Weslgd Fiiaro

offefcl.

HRUT (R) : TRy EEHed 39 TRl

YA AT ARG Bl e AT,

s 4 o [a}
Siegl 9 fTssa waE.

Il SR Heuld @efieideh! ShIoTd
T SeR 3TME 27

(A) (A) 7for (R) sReR 7for (R) ®

(A) < TEF TR 3R

(B) (A) 371 (R) s 997 (R) § (A)

o 3Tk TRl AR
(C) (A) &, T (R) T SN

(D) (A) SRR 997 (R) & I
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55. Match List I with List IT and select | 55. F= I & F= II =t I et o€ 9

the correct option using the codes Hﬁ?‘l’iﬁv‘l’qﬁﬁ I qqE A
given below : .&%ﬂ. I
List I
(@) =Y9odl
Agilit
(@) Agility ®) A
(b) Speed
(c) THIRUI
(¢) Endurance
(d) ¥ VO,
(d) Max VO,
et 10
List II
() o S\ Er
(z) Red muscle fiber
(i) e WMo
(z1) Capillary network
(i) TEX T &

(z1z) White muscle fiber
(iv) F-=dl TeEad

(iv) Neuro-muscular co-ordination

. (v) TRE ==

(v) Cellular metabolism
Codes : RIETIEE

(@) b) (c) d) (a) (b) (c) (d)
A) Gii) @ G G A) Gy @ G @)
B) Gv) @) @) 1) B) Gv) @) @) (73]
C) vy Gu) @) @ C) ) G G) @
D) @) @) @ (1) (D) Gu) G@v) @ (1)
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56. The sport performance is influenced 56. SHIST SHIHHMER T TSI Beletdeht
TeF HIUT 2
by which of the following factors ?
(A) Available facilities (A) 7= W
(B) Techniques (B) @
(C) Physical fatigue and rest (C) wRIfth orshan for st
(D) All of the above (D) ={ter we
57. The massage manipulation in which | 57. ATl Tkl YHhRIa IR 916
the light gliding movement over skin ollufl e = e T
WhiCh begins in peripheral areas e N N
el HQ A
and moves towards the heart is
o 7
called .................... .
(A) TR
(A) Percussion
(B) Petrissage (B) W=
(C) Vibration (C) HH
(D) Effleurage ) :
27 [P.T.O.



58.

59.

Maximum heart rate reserve could
be expressed as the difference

between ....cccoeeveeeeeen. }

(A) HR___and HR

exercise

(B) HR___and 0.6 HR

exercise

(C) HR,,, and HR

rest

and 0.7HR

rest

(D) HRmax

Commonly seen lower leg injury
when the athlete changes playing
surface, who trains intensively on

hard surface is ......ccoevvvnvennnennn. .

(A) Periostatis

(B) Bruitis

(C) Stitch

(D) Mayositis

58.

59.

APR - 71317/11I1-C

Sfreray g9 <X AT 81 hldial Hich

UECIEE

(A) HRyr 0 HR_ -

(B) HRypy 07 0.6 HR

(C) HRyy 0T HR oo

(D) HRyy 30T 0.7HRg e

FHISU TSUNTER faufisd shaom=a1

L N N N
Clolgd loldld] JS3HTT dqcTedrH

TEEATITYA TITATA EFMH SOT=31

[AHERY TSAT 3T WU
(A) uReiefew

(B) sEfed

(C) €=

(D) "
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60. How will be the process and

percentage of production of ATP

through ATP-PC cycle ?

(A) Fast and maximum

(B) Slow and minimum

(C) Fast and minimum

(D) Slow and maximum

APR - 71317/111-C

60. TAHI-TET IHIR YTt BT

TG gfshan & = SEdr fohdl 31
whd  ?

(A) Sorg o Afeehaq
(B) e amfor feram

(C) Selg 3mfur ferA™

(D) ¥He anfor aifrerdw

61. Cellular respiration process occurs 61. WIATe AT FlHA Wefferh]
in the following sequence : FUT HAE B ?
(A) Kreb cycle, glycolysis electron . e . .
(A) shddsh, TolIhICIHE, Sl d
transport
Bl
(B) Glycolysis, electron transport,
Kreb cycle (B) TOEhIcEE, SO 98, sherdsh
(C) Electron transport, Kreb cycle, " . - .~
(C) ToHd 98, shddsh, TelldhieidH
glycolysis
(D) TAFRIAEE, Haah, IoF T
(D) Glycolysis, Kreb cycle, electron
transport e
29 [P.T.O.



62.

63.

This is the inward or medial rotation
of forearm around vertical or
longitudinal axis and through

horizontal or transverse plane :

(A) Supination

(B) Pronation

(C) Abduction

(D) Adduction

What is the force that is exerted on
an immersed body by the water

beneath it ?

(A) Centripetal force

(B) Gravitational force

(C) Buoyant force

(D) Centrifugal force

62.

63.

APR - 71317/11I1-C

TEIed] BIAaTed Siegl HAerdrgd
HIqUadael g e feeie fan
A2 fo¥n frea dear @1 @ fepar e

STETTA T TSI HHIR fhall e

JaolTd  AFdl T

TEUTATd.
(A) g
(B) HIH¥H
(C) ATSHIA
(D) STSHIA

qrodgrd ﬂéla@ll QU Aar e

Cllefd ANl sledledl

TRUTATd.
(A) SHIH o

(B) TECATHYU 5
(C) T THIR e

(D) HIE &5
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64. Linear displacement and distance

65.

remain same when runner :

(A) Runs in a circle

(B) Runs in a curve path

(C) Runs in straight line between

two points

(D) None of the above

Relationship of linear and angular

velocity is expressed :

(A v=rw
B) r=wvw
) v="
,
D) w==
%

APR - 71317/111-C

64. T fowmoa omfur @R e 9@

65.

T SRl

(A) Tgesra =

(B) IehTshR HETH 1ol

(C) TH  TUTATSIHE Gl 184

(A)

vV =rw
(B)

r=vw

©C) v="
r

D) w=_
A%
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66.

67.

The product of half mass and velocity

square is the

(A) Kinetic energy

(B) Potential energy

(C) Elastic energy

(D) Static energy

Which of the following pairs is

correctly matched ?

(A) Stoppage of sweating
mechanism result in — heat

cramp

(B)

Heat lost is more in cold

condition — hypothermic effect

(C) Feedback system for muscular

work — neuromuscular junction

(D)

Body mass index is the measure

of — lean body fat

66.

67.
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318 SR ST ST & A T

(A) wEAfeh 3
(B) UrRefyrera i
(C) scoAieh Soii

(D) Efewm =i

N0

Wi HI SISl 3Teeh e 7

(A) & JvrEl A S I

(B) fta aRfedia Ssorar 2AfHeh =T e

— S IR qOHE 9RemH

(C) T AR TR0 Juedt — S

Tsoll S

(D) RR sxgum e § wOe SR

— M drel we
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68. Match List I with List IT and select | 68. SieaT Yeodl MU Weliet WiehdihraLH

the correct option using the codes TS T e
given below :
aet 1
List I
(@) 3TfeR Sweise
(@) Anterior deltoid
(b) sIEE fRAIRS
(b) Biceps femoris
(¢) TEHHETE
(¢) Gastrocnemius
(d) T=EE
(d) Triceps
et 11

List II

, (i) HIIE TN
(1) Extension of elbow
(i) TR TARM

(i1) Planter flexion

(i11) Flexion of knee (111) TSHATA AR

(iv) Flexion of shoulder (bv) eI R

Codes : e

@ & © @ @ ©® @© @
A) @ @O G G A @ O (@ @)
B) & Gv) @) G) B) &) Gv) Gi) G)
© @) @ @ O C) Gvy G G @)

D) @) @ 6@ ) D) Gi) G @ G
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69. Given below are two statements, one

labelled as Assertion (A) and the

other labelled as Reason (R).

Assertion (A) : For rotation around
horizontal axis, a diver assumes tuck

position.

Reason (R) : Radius of rotation has

direct relation with angular velocity.

In the context of the above two
statements which one of the

following is correct ?

(A) Both (A) and (R) are true and
(R) is the correct explanation of

(A)

(B) Both (A) and (R) are true but

(R) 1is not the correct

explanation of (A)

(C) (A) is true, but (R) is false

(D) (A) is false but (R) is true

69.
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o

feeTed SF aedTdiel Ueh faem (A) Ao

TW TF FRU (R) M.

faam (A) : e ramdiedl fTReR!

BT e U STehad 8 BIdlSeos

(o feerdt) Tfed .

HRUT (R) : Rer=n 59mn sl

TRl 92 HaY e

= qr1 faerr=n gewid ereft feeien
HehdlhIqd VAT IFE I TR 7

(A) T (A) 9 (R) ¥ 3T® Tor (R)

T (A) T TR TR IR

(B) T (A) 9 (R) ¥F 318 T (R)

T (A) T H TR AR
(C) (A) ? EF 3R, T (R) B 1EA
e

(D) (A) ¥ 39A 2T, Rq (R) ¥ IA

Sl
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70. Given below are two statements, one

labelled as Assertion (A) and other

as the Reason (R).

Assertion (A) : An infant can run
and walk in better way than holding

a pen or pencil to write.

Reason (R) : In infant first gains
control over large muscle groups

than the fine ones.

Which of the following statements

is correct ?

(A) Both (A) and (R) are true and
(R) is the correct explanation of

(A)

(B) Both (A) and (R) are true but
(R) is not correct explanation of

(A)
(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

70.
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o

fqelea §F IRl W 98 (A) 9

T &R0 (R) 3TE

faam A) : JvE = enfor e

faSilla

& foren U9 fonan Ufwe dened fa

T

it S1fyer ST R FE Y.

HROT (R) : IWTEERIA de™ TRua
HISH T HEeR 3TIE f=sor ure 3.

EcAieldeh! hiod fIeM ag 3R ?

(A) (A) 37T (R) Sald! | 3T 3T

(R) ® (A) ¥ Irg TR0 378

(B) (A) 30T (R) SF&d 9 38 W

(R) ® (A) ¥ Img TOERI0 TRl

(C) (A) ¥ 9 38, g (R) T 39
3

(D) (A) & 3 3R, W (R) & TA
Sl
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71. Match List I with List IT and select | 71. 3=l I 9 It 1T Sesed Ira T @Ieit

the correct answer from codes given feeiean wehdreYd e -
below : T 1
List I
(@) @HIaH
(@) Nature
(b) TIoOT
(6) Nurture
(c) M aw
(c) Principles of exercise
(d) TIE ad
(d) Principles of readyness
et 11
List II
(1) aTdEIo
(1) Environment
RERCINET
(z1) Heredity
((ii) AAMEs Ferdt

(zii) Mental set up
(iv) 39AM T e

(iv) Use and disuse

Codes : Hed

@ & © @ @ & © @
(A) @) (@)  @Gi) (Go) (A) @) (@) @) (Go)
B) Gi) @ ) (i) B) Gi) @ G Gi)
©) G) Gi) @ G ©) G) G @ )
D) Gv) Gi) G @) D) Gv) Gi) G) G
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72.

73.

Arrange the following in a
sequential order based on the

learning curve :

(I) Decreasing gains in learning
(IT) Initial lag is learning
(ITI)Increasing gains in learning
(IV) Plateau in learning

Codes

A) (D, dD, (1D, (IV)

(B) II), (IID), (I), (IV)

(C) (D, (ID), (IV), (ID

(D) IID, (IV), D, (I)

Which of the following pairs is

correctly matched ?

(A) Leadership scale for sports —

wood, brick and veroff

(B) Test of state-trait Anxiety —

Martens

(C) Profile of mood states —
Mc Nair, Lorr and Droppleman

(D) Test of Attentional and inter-

personal style — Carron,

Bramleg, Wideneyer

APR - 71317/111-C

792. AFITIHRIGN ATLMT TITATA  STsi=

FIHH

(I) AR HH A SR FIRA
(II) AR URAR AW T80
(III) STATAHSA G JGT

(IV) SIS TSRITE]
Wiehdich

A) (D, dD, (1D, (IV)
(B) D), 1D, (D), (IV)
(©) (D, dID, (IV), (II)

(D) (1D, (IV), dI), (I)

73. W] HIUC SiEl SeR Jad

(A) iR Aqc At — g, fork a7t
Rk
(B) W2 9 32 A= HARl — HifdA

(C) WhEd Ah g W — HeRT, TR

IR |

(D) STEUM T SAaeTert el FHERI—

HE, ATAT, TSR
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74. Match List I with List IT and select | 74. = I g @<l II Jegd drd T et

the correct option using the codes feotean HishdirmyA faer .
given below :
BRI

List I

(@) Thoeswt Si—Asdr SUU

(a) Fielder’s contingency theory
(b) ST I

(b) Behavioural theories

(c) Teedar Suu)
(¢) Reversal theories

N

(d) A IeTo0cHe: ST

(d) Psychoanalytic theories

List II Rk
(1) Emotion @) e
(ii) Play i) It
(i) Leadership (id) T
Gu) Pecsonslity (iv) AR
Codes : Hichdleh :

@ ® © @ @ ® © @
@) G @ 6 G @) Gi) G G Gi)
B) G) G Gib) () ®) G) G Gi) ()
©) @) @) G @ ©) Gv) GiD) G) G
D)WW e ® & G ) i)
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75. Match List I with List IT and select | 75. J€l I 9 3t 11 S[q A I @l

the correct option from codes given ferdre Tt 5 & :
below :
List 1 KGR
(@) Self-actualisation theory of (@) SAFFIHEET SRR ST
personality

(b) AfFHTETET T Heheddl STUT
(b) Self-concept theory of

personality (c) SAfFIHTAT AfFTd AT SYUH
(¢) Personal construct theory of (d) el 9o SRfau=d Squt
personality
gt 11
(d) Self-efficiency theory of
personality (i) 3o aigrr
List IT (i) St el
(z) Albert Bandura
(tii) @1t W
(i1) George Kelley
(jv) Hel
(zi1) Carl Rogers
(iv) Maslow Aickhdich :
Codes : @ b)) (o) (d)

@ @ © @
A) Gv) G G G)
B) G) G Gii) (v
©) G Gii) G O
D) Gii) Gv) G ) D) @) @) 6O G

A) Gv) G G @)

B) @) @) @) Gv)

©) @ G G @
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ROUGH WORK

40



